\ @
| “L W=2000LLF E
S N | \
8 | 7ILIRyk @
! AD-53 oy
I =
o | P75 ¥4 (AL) 8
¥ o | M3025 I
ramilnn \ T
| 7549k (AL
| PTWBHA
75
19 1 d \ ANARILEEW+SW (SUS)
4 gl ‘ M6 X 14
— A N S
o \ M6 FA SR (SUS)
30 UEH | 30X 22 % 2.0
\ 2-¢ 6 KikER
N \
\
- 0 \
i < T i P74 (AL)
S = ! M3025
< I ;’-(L |
11 o
T - =tlnn |
* i
|75 \
i —4 N —
< \ ( \ .
3 | — | @
a T (AL | J |
i | MX1008 =1 SN
i - [~ sa— ] : .
| A4 (AL) - TEET 5] |
\ M3025 & 7T s T
. ) S I ‘j l‘E“ ,
\ BR{FT 54wk (AL) ' | L S
\ PTWBHA - Bt I 54 vk (AL) 757 vk (AL)
‘ SGA-8M M8 X 20 N AARILHEFW+SW (SUS) 7 # (AL) FILSYRyk
| M6 X 14 / M3025 2| AD-56
) ~
. L4 L
| i — jmi - 2 jmi jmi jmi 2~ \ 3R T > H—(SUS)
‘ = m‘ = SGA-8M M8 X 20
| M6 FEZEAR (SUS) Pu 75 #41 (AL) 95 ||| F# (AL) ‘\ PH A4 (AL)
30X 22X 12,0 M3025 MX1008 M3025
- P=1414LTF | P=1414LTF 2
O O
®FP=@141.4LF 12
0~15 W=2000L T 0~15
—O O—C
H
AN — % £ B B I%% — O N EES BE A B
VAN | st o — - B &
A _ W | | <& ﬁi‘“*i#/b W By | B | #E@ |TEAR
ﬁ ; BT 5 T A ® £ W MARERT VOREFTI Y R
A — B 0 \ \ (LS4 vh) )

#I|%E H :2006.12.07 HEH: 2010.6.22 #-033



